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Simulations of EAS to test the expected
performance of the K-EUSO observatory

ESAF simulation software
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The exposure curve
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The angular reconstruction
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Reconstruction of the angle through
fit on position and timing of the signal

Comparison of timing and position of

signal with test shower
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Resolution: angle within which 68% of the

events fall

4-7° (low zenith angle)
1-2° (high zenith angle)




The energy reconstruction
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Reconstruction of the shower profile

Fit of the profile to obtain:
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Calculate the standard deviation
of the ratio

( E reco rea! )/ E real

~25% (low zenith angle)
~15% (high zenith angle)




Thanks a lot for your attention
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